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QUIZ NO. 12 - SOLUTION
(Average score = 6.2/10 of those taking the quiz)

A shunt-shunt feedback amplifier 1s shown.
Use the methods of feedback analysis to find
the numerical values of vo/v|, v /i|, and v,/is.

For QI, assume that 2z, = 100, g, = 50mS and
r, ==o. For M2, assume that g,, = ImS and
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Quasi-ac mode! of this circuit.
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The open-loop circuit to calculate A is given as,
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= (5)(-50K)(10/12) = -208.33kQ  (rpy = 5005 = 2kQ)
Vi A 1208.33K 208.33K  -208.33K
Ap=T= T+AB = T+(-208.33K/-10K) = 1+20.833 = 21.833 =-9.542kQ
1.67k
Rin=Ryllrp = 2kI10K = 1.6TK = Ry =37 833 = 76.34Q
4 Vo |valii| -9.542kQ

;;:1kQ+76.34Q=LQ7_6kQ vy =\, ;;"1' =7076kC ==
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